Ne ApTUKYN HanmeHoBaHue Kon
1 bont M8x30 1
2 Waiba @8 1
3 Waiba @8 1
4 CuenneHue B cbope 1
5 |3011000-2 [PemeHb 1
6 [euratenb 270F 1
7 Maka M10 1
8 Wait6a @10 1
9 Waitba @10 1
11 Tpoc rasa B cbope 1
11-1 Pblyar rasa 1
11-2 Tpoc rasa 1
12 Pyuka 1
13 CroiKa 1
14 {3006400 Bubporacutens 2
15 bont M8x20 4
16 BTynKka HenmnoHoBan 2
17 BTynka 2
18 LWan6a @12 2
19 bont M12x55 2
20 Tpoc ynpasneHus B cbope 1
21 Pbiuar ynpasneHus subpatopom 2
22 |3006015-3  |Tpoc ynpasneHus BubpaTopom 2
27 Kopnyc 1
28 KoXKyx pemHs 1
29 Waiba @8 2
30 Lainba @8 2
31 bont M8x20 2
32 Bubporacurens 1
Mogenb
Bubponnura VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 1




Ne ApTUKYN HanmeHoBaHue Kon
10 |C160-A10 Pama 1
23-1 OcHoBaHue 1
24 (3002000 Bubpatop B cbope 1
33 Bubporacurens 4
34 Wainba @12 4
35 lanka M12 4
36 MnactnHa 2
37 LWait6a P16 6
38 Wan6a @16 6
39 bont M16x45 6
42 Koneco B cbope 1
43 KoBpuK pe3nHoBbIN 1
44 MnactmHa 2
45 bont M8x30 5
46 LWanba @8 5
47 laka M8 5

Mogenb
Bubponnura VP165-CK

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYN HanmeHoBaHue Kon
1 KoXyx pemHsa 1
2 BuHT M8x20 1
3 LWainba @8 1
4 LWanba @8 1
5 LLKkune 1
6 KpblwKa 1
7 MpoKknaaKa 3
8 CanbHuk 28x50x10 1
9 KpblwKa Kopnyc Bubpatopa 1
10 Wrndt 2
11 Mpoknaaka 1
12 MoawwnnHmk NJ206 4
13 KonbLo ctonopHoe @342 5
14 bont M8x20 9
15 LWanba @8 9
16 Kpblwka 1
17 bont M10x 65 1
18 KonbLo ctonopHoe 1
19 Maiika M10 1
20 Konbuo 1
21 CoeguHutens M20 1
22 DKCLEHTPUK 1
23 LnoHKka 8x20 1
24 Ban 1
25 LLnoHKa 12x50 1
26 WnoHKa 12x20 1
27 LWecTepHa 1
28 DKCUEHTPUK 1
29 Ban 1
30 KpblwKa 2
31 LLlectepHa 1
Mogenb
Bubponnura VP165-CK

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon
32 Kopnyc 1
33 MpoKknaaKa 1
34 KpblwKa 1
35 LWalba 3
36 bont M6x20 3
38 Wrndt 1
39 Ban 1
40 BTtynka 1
41 Wanba 15x32x2.5 1
42 Lanba @5 1
43 bont M5x16 1
44 Ban 1
45 CoeguHutenno 1
46 CanbHuK 20x30x6 1
47 Polyar 1
48 LWan6a @10 2
49 bont M10x25 2
50 bont M8x25 4
51 MogwwnnHmk 16008 2
52 Mpobka M14x1.5 2
53 KonbLo ynnotTHUTenbHoe 1
54 MNoawwnnHuk (54, 55, 56) 2
57 Konbuo ctonopHoe @40 2
58 KonbLo ctonopHoe @30 1
59 MpoknaaKa 1
60 Waitba @10 9
61 bont M10x3 9
Mogenb
Bubponnura VP165-CK

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




2
o

ApTUKYN

HanmeHoBaHue

Kon

90-0124

FonoBKa UMAMHAPa B cbope

BOANT KNanaHHOM KPbILWKK

KpbiWwKa KnanaHoB

I'IpOKna,u,Ka KPbIWKW KNnanaHoB

boAnT ronoBKM uMAMHAPA

90-1083

TpybKa oTBOAa rasos

Wnunnbka rnywmnTena

LR5YC

CBeya 3axkuranuma LR5YC

*

kOOO\lO'\U’l-bUJNI—\l

MpoKknagKa ronoBku

[EEN
o

Brynka @#12x20

[any
[y

LnunbKa KapbropaTopa

N[(N]Rr[RIN]|R[D]|R[R R |~

*

90-0194

Habop npoknagok

Bubponnura

Mogaenb

VP165-CK

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon
1 UnnanHgp 1
2 LaT4ynK ypoBHA macna 1
3 |90-0347 CanbHUK 1
4 [90-0627 Pene patunka macna 1
6 [90-0750 MogwnnHmk 6202 1
9 Ban perynatopa obopoToB 1
11 LWalba 2
12 |90-0461 boAnT cAaMBHOro oTBEpPCTMA 2
Mogaenb
Bubponnura VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




Ne ApTUKYN HanmeHoBaHue Kon
1 KpbiwKa KapTepa 1
3 Brynka @8x12 2
4 LectepHa perynatopa obopoTos 1
6 [90-0462 MoawnnHmK Konensana 6206 1
7 * MpoKknagKa KapTepa 1
8 Bont M8x325 7
9 [90-0347 CanbHMK KoJieHBana 1
10 Mpo6ka (wyn) 2
* 190-0194 Habop npoknagok
|
|
Mogenb
Bubponaurta
P VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 7




Ne ApTUKYN HanmeHoBaHue Kon
1 KoneHBan 1
3 MNpotnsosec 177F 1
4 [90-0306 Konbuo nopwHesoe @77x2 1
5 KonbLo ctonopHoe 2
6 Maney, nopwHA 1
7 [90-0149 MopleHb @77 1
8 190-0181 WatyH 1
Mogenb
Bubponauta
P VP165-CK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




Ne ApTUKYN HanmeHoBaHue Kon
1 * Kopombicno Habop 2
2 * KpoHLWTeNH Kopombicen 1
3 * LWTaHra Tonkatens 2
4 * Tapenka Tonkatena 2
5 * Potatop 1
6 * CTtonop NpyXunHbl BbIMYCKHOrO KnanaHa 1
7 * Cronop npyXunHbl BNIYCKHOrO KNanaHa 1
8 * Mpy*KMHa KanaHa 2
9 * Tapenka NpyXuHbl 1
10 [90-0248 Konnayok macnocbemHbIi 1
11 [90-1044 KnanaHbl Habop 2
12 Pacnpeagan 1
Mogaenb
Bubponnura VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 9




Ne ApTUKYN HanmeHoBaHue Kon
2 |90-0677 CrapTep B cbope 1
4 KoXKyx maxoBuKa 1
8 [90-0115 BbiKkntoyaTenb 3aXKUraHusa 1
9 190-0252 PyuyKa ctapTepa 1
11 |909-020 LLUHyp cTapTepa 4,5 mm 1
Mogenb
Bubponaurta
P VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 10




Ne ApTUKYN HanmeHoBaHue Kon
1 * Mpoknaaka TenaonsonaTopa 1
2 |08-177-002 ([Tennousonatop 1
3 * MpoknaaKa KapbopaTopa 1
4 (90-0130 Kap6topaTop 1
5 * MpoKknaaka Kopnyca Bo3aywHoro ¢puabTpa 1
6 *ok MpyuHa pblyara 1
7 ok MpyKK1Ha TArKn 1
8 *k TAra perynatopa 1
9 190-1084 Pblyar rasa 1
10 Pbluar perynatopa 1
* 190-0194 Habop npoknaaok 1
** 190-0858 Habop npyxuH 1
Mogaenb
Bubponnura VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTUKYN HanmeHoBaHue Kon
1 |09-177-001 [|MaxoBuK 1
3 KpblnbyaTKka maxoBuKa 1
4 (173F30 XpanoBuK cTapTepa 1
5 laiiKa MaxoBMKa 1
6 LLInoHKa maxoBuKa 1
7 190-0258 MarHeTto 1
10 (90-0117 Konnayok ceBevyHoi 1
Mogenb
Bubponaurta
P VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 12




Ne ApTUKYN HanmeHoBaHue Kon
1 |15-188-001M [Mpobka 6eH3obaKa 1
2 |14-168-002 |®unbTp TONAUBHbIN 1
4 190-0615 baK TonAMBHbIM 1
5 [15-188-005 (Wtyuep 1
6 |15-188-006 [3akum 2
7 |90-0737 LWnaHr TonaunsHbIn (6, 7) 1
8 190-0620 rnywurtens 1
9 * MpoknaaKa natpybka raywmrtena 1
10 * Mpoknaaka rnywurtensa 1
11 Malika 2
12 MaTpy60oK 1
* 190-0194 Habop npoknagok
Mogenb
Bubponnura VP165-CK

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 13




Ne ApTUKYN HanmeHoBaHue Kon
90-0225 Kopnyc Bo3aywHoro ¢punbTpa 1
90-0465 PunbTp BO3AYLLHbIN 1

[

N

1 Mogenb
Bubponaurta
P VP165-CK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 14




